N of simulated tracks vs transverse vert position

10°

10*

10°

10?

...............................................

T T TTTHT

...............................................

AR
§

| N of associated tracks (simToReco) vs transverse vert position

10*

10°

10°

10

+ L%%%%é% 4
Tl S I SO
3 #:

; o S

N of simulated tracks vs z vert position

10*

10°

10?

St A AR
E : @ :
E : Y
s : e e
r : : Pt
r : .

: : L
Leebeeenes g T
E . ) .

E : : o :
C : = LI
r P ooy

00%0 T

T T LT
.
=

skl i Il | [T—
T M |1||||I|I|| T |§|||||||u|§n||||||||§
0.95L L : 0.95L L L : i :

1072

107 1 10

| N of associated tracks (simToReco) vs z vert position |

Ll
0

1072

107 1 10 10?

[N of simulated tracks vs.simPVz |

I G
R e
i A A
] AU SO SRR SO SRS P
N
0 A RO O OO W
£l ’ |‘|5111115111115111||5|
i | |||ET””E”T”E”T||E|

oostid L1 L L

10 15 20

0.95

=30

20 -10 0 10 20 30

| N of associated tracks (simToReco) vs. sim PV z |

10?

0.95

..................

SRRRELEE

50 =15 —10 -




	Contents
	Page 1


